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Date Interpretation Bar Graph Questions for IBPS PO Pre, RRB Scale I 
Pre, SBI PO Pre, IBPS Clerk Mains, IBPS SO Pre, Canara Bank PO, 
Syndicate Bank PO and SBI Clerk Mains Exams. 

DI Bar Chart Quiz 52 

Directions : Study the following bar chart carefully and answer the questions given beside. 

GOGOAGONE PVT. LTD, is a travel service company which plans for a trip for its customers. The Bar Chart 1 
given below gives the information about the percentage of customers out of total customers who went to Goa 
in every month from Jan to June in the year 2018. The Bar Chart 2 given below gives the information about the 
number of customers who didn’t go to Goa in each of the 6 months.   
Total number of customers of the respective months = The ones who went to Goa + The ones who didn’t go to 
Goa  

Bar chart 1 

 
 

Bar chart 2 

 



 

 

1.  The total number of customers in June was how many more than that of Jan? 

A. 1100  B. 1300  C. 900   D. 750   E. None of these 

 
2.  In April, the ratio of males to female customers was 3 : 2. If 40% of the total number of 
male customers went to Goa, then among the customers who didn’t go to Goa how many of 
them were females? 

A. 225   B. 348   C. 216   D. 228   E. None of these 

 
3.  The number of customers who went to Goa in Jan and Feb together was how many 
less than the number of customers who didn’t go to Goa in March and April together? 

A. 853   B. 933   C. 756   D. 923   E. None of these 

 
4.  In the first three months of the year 2018, the total number of female customers was 
800, then what was the total number of male customers in these months together? 

A. 3430  B. 3840  C. 2960  D. 3660  E. 3420 

  
5.  How many customers of GOGOAGONE Pvt ltd had gone to Goa in the first six months 
of the year 2018? 

A. 4652  B. 4482  C. 4812  D. 4962  E. None of these 
 
 
Correct Answers: 

 

1 2 3 4 5 

A D B D C 
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Common Explanation: 
 

Months Jan Feb March April May June 

Who didn’t 
go to Goa 

680 696 805 912 665 840 

Who went 
to Goa 

32% 40% 65% 52% 30% 60% 

Total 

(100 – 32)% 
= 68% = 680 
100% = 680 
× 100/68 = 

1000 

(100 – 40)% 
= 696 

60% = 696 
100% = 696 
× 100/60 = 

1160 

35% = 805 
100% = 2300 

48% = 912 
100% = 1900 

70% = 665 
100% = 950 

40% = 840 
100% = 2100 

The number 
of customers 
who went to 

Goa 

32% of 1000 
= 320 

40% of 1160 
= 464 

65% of 2300 
= 1495 

52% of 1900 
= 988 

30% of 950 
= 285 

60% of 2100 
= 1260 

 
 
Answers : 
 
1.   The total number of customers in June = 2100  
  

The total number of customers in Jan = 1000  
  

The required difference = 2100 – 1000 = 1100  
 

Hence, option A is correct. 
 

 

2.   In April, the total number of customers = 1900 
 

The total number of males =  
1900 × 3 

 = 1140 
5 

 

The total number of females =  
1900 × 2 

 = 760 
5 

 
The total number of males who went to Goa = 40% of 1140 = 456 
 
The total number of males who didn’t go to Goa = 1140 – 456 = 684 
 
Among the customers who didn’t go to Goa, the number of females = 912 – 684 = 228 
 
Hence, option D is correct. 



 

 

3.  The number of customers who went to Goa in Jan and Feb together = 784  
  

The number of customers who didn’t go to Goa in March and April together = 1717  
  

The required difference = 1717 – 784 = 933  
 
Hence, option B is correct. 

 
 

4.  The total number of customers in the first 3 months = 1000 + 1160 + 2300 = 4460  
  

The total number of male customers in these months together = 4460 – 800 = 3660  
 
Hence, option D is correct. 

 
 
 

5. The total number of customers of GOGOAGONE Pvt ltd who had gone to Goa in the first six months of 
the year 2018 = 320 + 464 + 1495 + 988 + 285 + 1260 = 4812  

 
Hence, option C is correct. 
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